Circles — Similar Circles

G.CA2

Mat&h—t-@ following for Circle A (use each item once).
#1 6 Major Arc

#Z)F C_ Diameter

#3)EG  chord
N\

#4) FD Minor Arc

>
#5)‘ I Tangent line

#6) I \ Interior Point
)

#7) GE Secant line

#8) I Exterior Point

#9) l ! Center
/\

#10) CeF Semi-Circle

Using the diagram, name objects that meet the description.
Fill each blank.
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Te " e Fc GE
MR A
LDAF

#11) Chords

—

#12) Radii A’F
#13) Central £ Lﬁ&b ,L@AF

#14) Exterior Points I , 3

#15) Jeff was a little confused by the lesson about the circle
basics. When he looked back at his notes he had written
down that radii and diameters of circles are not chords. Is
this correct? Explain.

Fe (5 weony, &J-;i are rot C)‘“VJS, bt diameks
ar chordS,

#16) A textbook had the following true and false question.
“Two radii always form a diameter. TorF
The answer is false.”

Draw a counter example to this statement to establish it is
false.

Hw Section 12.2

Name

Circles B and C are congruent. Circle B has a radius of 4 cm
and ZAEC is a right angle. Use this information to determine

the missing values.
- a0

#17)BC = H #18) AD = —")

#19) AC = 8 #20) Perimeter of Quad. BECF

[

w1)ae= H \Fﬁ

#22) Perimeter of ABED

2+ 45

#23) After completing the previous questions a very
observant students states, “Hey AAEC must be a special right
triangle, 30° — 60° — 90°.” She is correct, what did she see
that helped her come to this conclusion?

Mo Aot AC wey dnick L1 Site 5 Ec
ian DAEC .

Secant GE goes through Circle F’s center and intersects at
points G and E.

#24) Draw the description. What is the name of the diameter
formed by the secant?

4

(@ CE

#25) Name the two radii formed by the secant.
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J
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Circles — Similar Circles

G.CA2

Circles B and E have radii of 8 cm & 6 cm respectively, and CD
is 3 cm. Use this information to determine the missing
values.

#26)BC=__ 5
wnea-_ 14
#28) Perimeter of BGEH= 2% = F43*0tl
w9 AF= 2O

#30) Perimeter of ABGE = QS = (9*% + 1\

Draw the following relationships.

#31) Tangent line GE has a point of tangency at Point F on
Circle M. F

@ é

#32) Secant line HT intersects tangent Iine]HT on Circle R.

#33) Radius ABintersects tangent line GE on circle A.

Q

B

\' 4

Hw Section 12.2 Name

Determine the radius of the circle.

#34) Area = 367 #35) C= 367
A = P\'(‘L C- 2N
@ 1 e lnle
Jorr= { e T =
3@:( {K:(
£6:=C
G
#36)d=7cm #37)
12./2 cm
d2r
1=2¢ \
)
(:7/:) e
yIivaew
#38) #39)

J
5c

?y’f’h‘bdf‘em ’rr,'pl(
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= ‘3/'-1
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